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Data Nilai Perolehan Hasi Tes Siklus II
	No
	Nama Siswa
	Nomor/Bobot Soal
	skor
	Nilai
	Ket

	
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	
	
	

	
	
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	3
	4
	5
	7
	3
	
	
	

	1
	AS
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	0
	1
	1
	0
	0
	1
	4
	5
	6
	2
	29
	78,37
	Tuntas

	2
	MR
	0
	1
	0
	1
	1
	1
	1
	1
	1
	1
	1
	1
	0
	1
	1
	3
	3
	4
	7
	3
	32
	86,48
	Tuntas

	3
	AD
	1
	1
	0
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	1
	0
	2
	4
	4
	7
	3
	32
	86,48
	Tuntas

	4
	ZPB
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	0
	0
	0
	3
	4
	5
	7
	3
	34
	91,89
	Tuntas

	5
	RA
	0
	1
	1
	1
	0
	0
	1
	1
	1
	1
	1
	1
	0
	1
	1
	2
	1
	4
	4
	1
	23
	62,16
	Tidak Tuntas

	6
	NI
	1
	1
	1
	0
	1
	0
	0
	0
	1
	0
	1
	1
	0
	0
	1
	1
	4
	5
	5
	2
	25
	67,56
	Tidak Tuntas

	7
	ADP
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	0
	0
	1
	3
	3
	5
	7
	3
	33
	89,18
	Tuntas

	8
	AMR
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	0
	3
	4
	4
	7
	3
	32
	86,48
	Tuntas

	9
	AMF
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	0
	3
	4
	4
	7
	3
	32
	86,48
	Tuntas

	10
	NA
	1
	0
	0
	1
	0
	0
	1
	1
	1
	1
	1
	1
	1
	1
	1
	3
	2
	5
	7
	3
	31
	83,78
	Tuntas

	11
	MFV
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	1
	2
	4
	4
	7
	3
	32
	86,48
	Tuntas

	12
	DS
	1
	1
	1
	1
	1
	1
	1
	0
	0
	1
	1
	1
	1
	0
	1
	3
	4
	3
	7
	3
	32
	86,48
	Tuntas

	13
	MFR
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	1
	2
	4
	5
	7
	3
	33
	89,18
	Tuntas

	14
	MRP
	1
	1
	0
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	1
	3
	2
	5
	7
	3
	31
	83,78
	Tuntas

	15
	DBR
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	0
	1
	4
	3
	7
	3
	29
	78,37
	Tuntas

	16
	NAH
	1
	1
	1
	1
	1
	1
	0
	0
	0
	1
	1
	1
	0
	0
	0
	1
	4
	3
	6
	2
	25
	67,59
	Tidak Tuntas

	17
	ARA
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	3
	3
	5
	7
	3
	35
	94,59
	Tuntas

	18
	RNM
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	3
	4
	5
	7
	3
	37
	100
	Tuntas

	19
	RRS
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	0
	0
	1
	3
	4
	5
	7
	3
	35
	94,59
	Tuntas

	20
	MIM
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	1
	1
	2
	5
	6
	2
	28
	75,67
	Tuntas

	21
	NAO
	0
	1
	0
	0
	0
	0
	0
	0
	1
	0
	1
	1
	0
	1
	1
	1
	4
	5
	6
	3
	25
	67,56
	Tidak Tuntas

	22
	MKI
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	1
	0
	1
	3
	2
	4
	6
	3
	31
	83,78
	Tuntas

	23
	NFZ
	1
	0
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	1
	1
	1
	3
	4
	5
	7
	3
	35
	94,59
	Tuntas

	24
	SI
	1
	1
	1
	1
	0
	1
	0
	1
	1
	1
	1
	1
	1
	0
	1
	2
	4
	3
	7
	3
	31
	83,78
	Tuntas

	25
	NAM
	0
	1
	1
	1
	0
	1
	0
	1
	1
	1
	1
	1
	1
	1
	1
	1
	4
	1
	7
	2
	28
	75,67
	Tuntas

	26
	SAW
	1
	1
	0
	0
	0
	1
	0
	0
	0
	0
	1
	1
	0
	0
	0
	2
	4
	4
	7
	3
	25
	67,56
	Tidak Tuntas

	27
	MRM
	1
	1
	1
	0
	1
	1
	0
	1
	1
	1
	1
	1
	0
	1
	1
	2
	3
	5
	7
	3
	32
	86,48
	Tuntas

	28
	NFJ
	1
	0
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	0
	0
	1
	3
	4
	5
	7
	3
	33
	89,18
	Tuntas

	29
	RSR
	1
	1
	1
	1
	1
	1
	0
	1
	1
	1
	1
	1
	1
	1
	1
	2
	4
	5
	7
	3
	35
	94,59
	Tuntas

	30
	SA
	0
	1
	1
	0
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	2
	4
	5
	7
	2
	34
	91,89
	Tuntas



Hasil analisis sebagai berikut:
1. P =  x 100% =  x 100% = 83,33%

1. P =  x 100%  =  x 100% = 16,67%
   


1

